Integral questions
[image: image1.png]In Exercises 9-14, write a Riemann sum and then a definite
integral representing the volume of the region, using the slice
shown. Evaluate the integral exactly. (Regions are parts of
cones, cylinders, spheres, and pyramids.)
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[image: image4.png]The integrals in Problems 15-18 represent the area of either a
triangle or part of a circle, and the variable of integration mea-
sures a distance. In each case, say which shape is represented,
and give the radius of the circle or the base and height of the
triangle. Make a sketch to support your answer showing the
variable and all other relevant quantities.
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[image: image6.png]24. Find the volume of a sphere of radius r by slicing.




[image: image7.png]In Exercises 1-10, the region is rotated around the z-axis.
Find the volume.




[image: image8.png]2. Bounded by y = (z + 1)%,y = 0,z





[image: image9.png]6. Bounded by y = cosz,y = 0,2 = 0,z = /2.




[image: image10.png]10. Bounded by y = ¢%*





[image: image11.png]For Problems 28-32 consider the region bounded by y =

the z-axis, and the lines = = 0 and = 1. Find the volume of
the following solids.





[image: image12.png]28. The solid obtained by rotating the region about the z-
axis.




[image: image13.png]For Exercises 11-13, find the arc length of the graph of the
function fromz = Otoz = 2.





[image: image14.png]12. f(z)=Va-22




[image: image15.png]17. Consider the hyperbola z% — 1 in Figure 8.25.





[image: image16.png](b) What is the arc length with y > 0 from z = 2 to
=3
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[image: image18.png]42. Set up an integral for the circumference of an ellipse with
semi-major axis a = 2 and semi-minor axis b = 1. Eval-
uating this integral numerically (i.e.. using a calculator or
computer) poses a problem. Describe this problem. For-
mulate a way to solve it.




[image: image19.png]Solve the differential equations in Problems 29-38. Assume
. b, and k are nonzero constants.
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